8 7 6 5 ' 4 3 2 NEXT ASS‘Y: FINAL ASS’Y:
GENERAL NOTES: PARTS LIST
) DIMENSTONS AND SYMBOLOGY ARE AMERICAN NATIONAL ART | DRAWING NO. |DESCRIPTION OTY
STANDARD UNLESS OTHERWISE SPECIFIED.
2) ROUGHNESS AVERAGE EQUALS 125 MICROINCHES |_[93.27. 31 CASK DOCKING TEE DETAIL |
UNLESS OTHERWISE SPECIFIED. 2 [J3.21.32 CASK DOCKING TEE PLUG DETAIL I
3) DIMENSIONS AND TOLERANCES ARE IN INCHES. 3 [J3.27.33 CASK DOCKING TEE VENTILIATION GATE SHAFT 1
4 ngégAQéESSHARP EDGES. 4 [J3.27.34 CASK DOCKING TEE VENTILATION GATE l
DECIMALS:  .X = £.060 <§;§> 5 1J3.27.36 CASK DOCKING TEE RACK | H
KX = 030 , 4 , [ 6 |J3.27.36 CASK DOCKING TEE RACK SUPPORT ANGLE |
acTions: e =0l ///// 1 [J3.27.36 CASK DOCKING TEE VENTILATION GATE SHAFT COVER |
ANGULAR:  +1° ////// 8 WASHER, PLAIN, TYPE B, NARROW, 3/8, AISI 300 SERIES SST 45
| Vi 9 SHCS, 3/8-16 UNC X | LG., ASTM A320 CLASS | GRADE B8M 5
10 SHCS, 3/8-16 UNC X [-1/4 LG., ASTM A320 CLASS | GRADE B&M 8
| WELD STUD, MALE, 3/8-16 UNC X | LG., AISI TYPE 304L SST 8
A B<—| = ' = 12 ACORN NUT, HIGH CROWN, 3/8-16 UNC, AISI 300 SERIES SST 6
| | A | ’ 13 ACORN NUT, HIGH CROWN, 5/16-18 UNC, AISI 300 SERIES SST 8
! . : ‘ ’ 14 END SUPPORT BLOCKS, STEEL, 2" DIAMETER, LINTECH P/N: XXXXXX 4
! 5 EXTERNAL SNAP RING, ARCON P/N: [460-112 l
| 16 EXTERNAL SNAP RING, ARCON P/N: 1460-150 1
. 17 FLANGED BUSHING, FRELON, McMASTER-CARR P/N: 59575K4| 1
! ! : 18 FLANGED BUSHING, PEEK, McMASTER P/N: 6627K36 k
A . @®. 19 HSH SHOULDER SCREW, 3/8 X I" LONG, 5/16-18 UNC X 1/4 LG., 18-8 SST 8
\ y N T 20 KEY, SQUARE, 1/4" X I/4" X 2-7/8", STEEL, ANSI BIT.| 1
! ’ 21 LINEAR BEARING SHAFT, 2" DIAMETER X 108" LG, STEEL, LINTECH P/N: XXXXXX 2
22 LINEAR PILLOW BLOCK, W/ SELF ALIGNING BEARING, 2" DIA., STEEL, LINTECH P/N: xxxxxx| 4 | (5
SEE DETALL 1 E DETAL 2 23 SPUR GEAR, 4"DP, 20PA, W/ 1/4" KEYWAY, GLOBE GEAR P/N: T416SS x
: SECTION B-B
: (105-1/4)
RIS NN
T
’ )
| | L= F
\ \Z
' . 5 Ol=
A <______l B DETAIL 2 0 =
CALE 1/4
° DETAL 3
SCALE 1/4
- (189-1/4) |
v @ 7 | 3
/ | W74 ; } ,l Z. /<7/l
///// ¢ /C;%% /////
:::::, ¢%¢¢%¢ (61)
/ '
d: ! i ans ]"f . D
- I ,
12.00 ————Lv~———aJ \\\——SEE DETAL 3 D
SECTION A-A
4% 105.00 /// -
- 4% 78.63 //// -
/ // /
o /
F 6 o — - " # -~
i . A\ T
_@_ o6 o ° °_$_ \\/ ‘l ’/_K\ /\
- |
' ¥
s 3. | @ [
//, o} [
l O vy =l NOTES:
— - 2% 56.13 j§§ =
:J%\\\\ |, THE FABRICATION OF THIS COMPONENT IS SUBJECT TO THE REQUIREMENTS
§;> ’/;: féz SET FORTH IN SECTION 15065.
' | 2. VENTILATION GATE SHAFT DESIGNED FOR USE WITH McMASTER-CARR T
P MACHINE HANDLE P/N: 6040K22 OR EQUIVALENT. TURN HANDLE CCW
‘\\ 20 TO CLOSE AND CW TO OPEN VENTILATION GATE.
i “ :5§J>> {j T~ [3==L0CATION OF RACK SUPPORT ANGLE SHALL BE DETERMINED ON ASSEMBLY.
° o ° —1 (3.75) VERIFY THAT THE SLIDEGATE MOVES FREELY AND SMOOTH BEFORE FINAL
|
.o . 5 T~ WELDING THE ANGLE.
\ \ [=PART NUMBERS WILL BE ASSIGNED TO THE INDICATED LINTECH COMPONENTS
‘ \ ONCE A PURCHASE ORDER IS PLACED. o
o
= [S=LO0CTITE INDICATED FASTENERS USING APPROPRIATE STRENGTH —
LOCTITE THREAD LOCK ADHESIVE. N
o
Egizg\ﬂ7/4_1 6. COMPONENT WEIGHT: 97513 LBS. (INCLUDING PLUG) -
scALE: /16 | B
108030700-J8E-8700-A043
D Knight/Jacobs Joint Venture
701" Scarboro Road, MS 8253 | CJCICI
Oak Ridge, TH 31530 Egg MERRICK —
865-241-9433 Frgheors & Arhiects
fax865-241-3400
DSN [ /\<’\ |
RPE DRW '/)f b%/é /Q/ZB/M Oak Ridge Notional Laboratory, managed by UT-Battelle, LLC, for
\\\“\mumm,,,” ’KM /3/23/4/ UTSBATTELLE the U.S. Dept. of Energy under contract DE-AC05-000R22725
pUAROY, T crk T/AA (%37
§¢Q’,&g&an gy, Qo [DEPT PROJECT NAME:
SN CE [ T Wy SPALLATION NEUTRON SOURCE
| ' £ R {AS P KO Tes Wiz, |
o SETIESEUTATION 08 WRRAVTY, CXRESED ot MELICO18 s b PR I N a2 fek TARGET BUITLDING
oo s o warsowies o | [ THIS DRANING PRODUCED o, SE i as L CASK DOCKING TEE
METHOD OR PROCESS DISCLOSED IN THESE DRAWINGS MAY NOT ’/,,//2’6,' 00 .--‘$@°i\\\\‘ A S S E MB L Y A
WITH RESPECT T0 THE USE OF, OR FOR DAMAGES RESULTING FROM , S Do P e Y B B 17T KT
THE USE OF, ANY INFORMATION, APPARATUS, METHOD OR PROCESS TH‘S DOCUMENT CONTROLLED BY e ' '
DISCLOSED IN THESE DRAWINGS. DRAWINGS MADE AVAILABLE FOR ' 3 0 CERTIFIED FOR CONSTRUCTION - 10/26/01 PCD | TBO /%//’) N enp Ll Il ”7/“ T80 106873 |10/26/01 . MJK : , . 31 J L XX 8 8100 l l G U
O 10 B DR AR O 1o B oySED FOR OTHER CHANGE CONTROL SYSTEM—_S’NE. —E“——_G-OO REV | cysner | EBANGS | REaNEE DESCRIPTION DSN | CHK | DEPT | DATE | PE | DATE | Py DA&EOI REQ | DATE |'UTB | DATE | RPE RPE NO | DATE sT | ev | ec | e | em | i€ M PD | SE | AR rev.O pate "O/t o) UTWZP‘/%/W /f//Z/ ! 32 >3 Wes REV
PURPOSES, AND ARE TO BE RETURNED UPON REQUEST OF THE - - TYPET | SOSTEN- | Rowaen. ~ : : , ol
FORWARD ING CONTRACTOR. ENGINEERING PROCEDURE oo™t NG00 E REVISION OR ISSUE PURPOSE REVISION APPROVALS SQUAD CHECK DRAWING APPROKALS’ ' NC NA IN 1.8.3.1 J 3 . 2 7 . 30 0




